A= ALYUH= PN EHESR
HE: OrMSH HIHIIE PE(BSSEMYLE/THE LT - 21e29])
Sl UM AU (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
EPGE=g=aT, 168,426,279 181,317,401 212,891,122
= 127,957,000
< 40,469,279
OhMEE UTIIE PEH(SSEMLAE /LT - 2 Ee) 53,679,951 61,228,800 AT,548,849
= 40,866,000
< 12,813,951
LM A2t 167,951 153,200 14,751
= 11,000
< 156,951
FHEH s=HAH = 44,935 50,000 A5,065
201 Let24E] 27,000 31,000 A 4,000
01 At 22l 25,000 29,000 A 4,000
OLME sl Azl 3,000
OMHYHAR 2H2 32 2,000
OMdioeg S22 M 10,000
ONMAMHEZASH=Z N S 10,000
03 &Ar2 I 2,000 2,000 0
OMETH R==Atcll S& S 2,000
202 04l 17,935 19,000 A 1,065
01 = LH 4 Hi 17,935 19,000 A 1,065
OMHETH sty =&l 15,000
OXNHUAET U K& UYL = 2,935
HEOoh A AelgtA XA (=1) 22,000 30,000 A8,000
= 11,000
< 11,000
201 et 3,000 8,000 A5,000
= 1,500
< 1,500
01 At 22l 3,000 8,000 A5,000
OMIIoHA MeletZBXE &S 3,000
= 1,500
< 1,500
202 O4dl 5,000 5,000 0
= 2,500
< 2,500
01 = LH 4 Hi 5,000 5,000 0
OMH LA HeltdXE & 5,000
= 2,500
< 2,500
307 21201 A 14,000 17,000 A 3,000
= 7,000
< 7,000
02 B AAHEX 14,000 17,000 A 3,000
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M ox
40 5 4

Mo

906,000

SERE VRE-ERCETE PR 0l &t o il HImEET
OMHAMEIXNAEH 29 14,000
= 7,000
< 7,000
E+0EE Ot XA (2PN H) 101,016 73,200 27,816
308 XXM SOIA 101,016 73,200 27,816
01 XML EES 101,016 73,200 27,816
O2=oll2&8 HLXNEH 101,016
MoHAIE OiH S8 23 53,512,000 61,075,600 AT,563,600
= 40,855,000
< 12,657,000
Olg=alol THoHtH 2 =& 58,800 108,800 250,000
201 2et24d] 40,000 40,000 0
01 At 22l 40,000 40,000 0
OMAtLTHEOF RARSE 2H 40,000
202 O4dl 18,800 18,800 0
01 = LH 4 1 18,800 18,800 0
OMOHIlIH=AL & THAH= 2 8,000
OAMETHHE S HES2 7,000
OXATHoHME XN HH 3,800
MHolFEX 2 HHl XN (=21) 30,922,800 39, 138,000 A 8,215,200
= 24,963,000
< 5,959,800
401 Al HIZ 201 Y] 2,418,000 4,500,000 A 2,082,000
= 1,209,000
= 1,209,000
01 A& HI 2,409,300 4,487,850 A 2,078,550
O & X+ Fhl 2,409,300
= 1,204,650
< 1,204,650
03 Al 20 HI 8,700 12,150 A 3,450
OMol? & X+ FHl 8,700
= 4,350
< 4,350
403 MtXSHHS A= 0l& 28,504,800 34,638,000 A 6,133,200
= 23,754,000
< 4,750,800
01 XM A=2EE 28,504,800 34,638,000 26,133,200
O & X+ FHl 28,504,800
= 23,754,000
< 4,750,800
NMeldEASE XS HU A (21) 5,436,000 5,190,000 246,000
4,530,000




AR ALY SN RN
I OLEE YIIIE BE(STEMUSE /ML - BS)
Sl HolALMTHEl 52 2§ (Sl & &)
- — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

403 UHXSHHSA=0l& 5,436,000 5,190,000 246,000
= 4,530,000
< 906,000

01 X SHMA2E X 5,436,000 5,190,000 246,000
ONRZLEASE XA HH| 5,436,000
= 4,530,000
< 906,000

LEMIANLE 43(=21) 2,503,200 6,568,800 A 4,065,600
= 2,086,000
=) 417,200

403 MtXISHHE X201 & 2,503,200 6,568,800 A 4,065,600
= 2,086,000
=) 417,200

01 XM A=2EE 2,503,200 6,568,800 A 4,065,600
SERE MNZAE &X 2,503,200
= 2,086,000
< 417,200

SEAMA SU/AEXNS FHAL (2D) 14,140,000 9,710,000 4,430,000
= 8,900,000
< 5,240,000

401 AIEHI L 2 0] 8,650,000 8,180,000 470,000
= 4,325,000
< 4,325,000

01 A& Hl 8,627,910 8,159,550 468,360
O=2ZAX SUAE XS FH| 8,627,910
= 4,313,955
=) 4,313,955

03 A& 2 THHI 22,090 20,450 1,640
O=d AKXl SUEXS Fl 22,090
= 11,045
< 11,045

403 A X EHHS 20l A 5,490,000 1,530,000 3,960,000
= 4,575,000
< 915,000

TAXEH A= X 5,490,000 1,530,000 3,960,000
O=Z ALK SUAEXSE FHl 5,490,000
= 4,575,000
< 915,000

Holele Ma=X Ul (=2) 451,200 360,000 91,200
= 376,000
< 75,200

403 XSS A=0l& 451,200 360,000 91,200
= 376,000
= 75,200

01 XM A=2E X 451,200 360,000 91,200
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o

4,883,000

AL W=
OLEE BTIIY PE(RBIMUL
Mol A& CHEl s 25t (&)
224 BB O (B - HEA Ol &+ o4 SSa HlmE2
OMAAE M=X bl 451,200
= 376,000
< 75,200
FETHOHONEY & =X& XM (= ! 2 107,481,040 114,146,030 A6,664,990
= 87,091,000
< 20,390,040
ot EE MAHAA A 76,811,000 86,508, 100 A 9,697,100
= 60,646,000
< 16,165,000
otdEd e o =& 1,015,000 1,031,100 216,100
201 Let24dH] 9,000 17,100 A 8,100
01 At 22/l 9,000 17,100 A8,100
Ostdzelfds 29 9,000
202 O4dl 6,000 14,000 A 8,000
01 = LH 4 Hi 6,000 14,000 A 8,000
OGHETHOH I ALY X & 6,000
308 XXX SOIA 1,000,000 1,000,000 0
02 A3 1,000,000 1,000,000 0
O otEANEZ R 3 1,000,000
St THo ol (=21) 70,842,000 80,577,000 A 9,735,000
= 55,692,000
< 15,150,000
401 AIEHIZ 201 8I 25,266,800 20,842,200 4,424,600
= 14,999,800
< 10,267,000
01 A& tl 24,426,800 19,961,200 4,465,600
© oF & TH off ol & 24,426,800
= 14,549,800
< 9,877,000
02 Zeltl 800,000 833,000 A 33,000
O ot THoH Ol & 800,000
= 450,000
< 350,000
03 Al 20 HI 40,000 48,000 A 8,000
© oF & TH off ol & 40,000
403 XXM S K201 A 45,575,200 59,734,800 A 14,159,600
= 40,692,200
< 4,883,000
01 XS M A=2EE 45,575,200 59,734,800 A 14,159,600
O Gt TH ol Ol & 45,575,200
40,692,200




A ALY SN BN
M ol Moiog L XA IXNHL(BELRGINL/=TE)
Chel: StEEE MAA i (cho &)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
MERSIE =M (= D) 4,954,000 4,900,000 54,000
= 4,954,000
403 UHXSHHSA=0l& 4,954,000 4,900,000 54,000
= 4,954,000
01 X SHHMA=E L 4,954,000 4,900,000 54,000
OMEfStE =4 4,954,000
= 4,954,000
=XE JIXIM LD & 2eldst 30,670,040 27,637,930 3,032,110
= 26,445,000
< 4,225,040
ot el 9ot 285,040 172,930 112,110
201 L4 5,040 40,040 A 35,000
01 At 22l 5,040 40,040 A 35,000
O & dotol & 5,040
202 odl 10,000 17,890 A7,890
01 SLHOYI 10,000 17,890 A7,890
OHAESX 2l M =AM 10,000
403 A X EHHSH20IA 270,000 75,000 195,000
01 HXESHHMA=E L 270,000 75,000 195,000
OXgstd Zl 70,000
OActd Fl 100,000
+HEATY XY 100,000
A6HA Ul N (=21) 21,323,000 18,993,000 2,330,000
= 20,573,000
= 750,000
403 XSS A=0l& 21,323,000 18,993,000 2,330,000
= 20,573,000
< 750,000
01 XM A=2E X 21,323,000 18,993,000 2,330,000
OA5td FHl 21,323,000
= 20,573,000
= 750,000
2IolA R X2 (=21) 4,146,000 4,146,000 0
= 4,146,000
403 MHXISHE X201 & 4,146,000 4,146,000 0
= 4,146,000
01 X SHH2E = 4,146,000 4,146,000 0
O=Jtotd RAE= 4,146,000
= 4,146,000
A8F0 & FEHISE FUl(=12) 1,016,000 1,111,000 95,000
= 916,000
< 100,000
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A= ALYUH= PN EHESR
Y ot L XA NN ELRAMLY /=T
el =XE JIXIMD & 2el2s (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 1,016,000 1,111,000 A 95,000
= 916,000
< 100,000
01 X SHMA2E X 1,016,000 1,111,000 A 95,000
Ostetdd XA FH 1,016,000
= 916,000
< 100,000
ExTHEY HH(=1) 810,000 1,215,000 A 405,000
= 810,000
403 MtXISHHE X201 E 810,000 1,215,000 A 405,000
= 810,000
01 AXISHHA=2E = 810,000 1,215,000 A 405,000
Od=xd X228 Y A4 810,000
= 810,000
ANgotd S 2elAtg 3,090,000 0 3,090,000
201 2et24d] 40,000 0 40,000
01 At 2teltl 40,000 0 40,000
OHHELRX 02 ZHEIN =2 35,000
ozgse, sl 5,000
401 AIEHI L 2CHYI 3,050,000 0 3,050,000
01 A& HI 3,050,000 0 3,050,000
OotdEBUEX 24 2,000,000
OXgstd Jl=H = 1,000,000
Ootd HE A& &l 50,000
HE2AIH (LS L2 )(IIEH/IIEH 48,141 52,141 A 4,000
Jl2&dl 48,141 52,141 A 4,000
2FA2Y JI23H 48,141 52,141 A 4,000
201 Lt 33,941 33,941 0
01 At 221l 33,941 33,941 0
ORAN2Y AR2eltl 33,941
202 O4dl 10,000 10,000 0
01 = LH 4 Hi 10,000 10,000 0
SHA2E =AY 10,000
203 R =&l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
©30Q! 0]t 350,000 »12& 4,200
Heas (LML) (S EALSA /LT - e 7,217,147 5,890,430 1,326,717
2l)
HEHHX = 5,321,849 5,030,813 291,036
XH oH CHHI & 3t 5,161,849 5,030,813 131,036
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A4S W= A EHEER
HRes(dMHEE2A)(SSEMLOE/THHET - 2129f)
LHEHHXI= (22 &d)

224 ZBS(AN) - HRAY - BES 0l &t o il HImEET
702 JISEEZS 5,161,849 5,030,813 131,036
(O RWIE=RSE= 5,161,849 5,030,813 131,036

OMt2elI3 5,161,849
Mol RS2 (XS IMHLEINZ) 160,000 0 160,000
705 ==& cl34&E 160,000 0 160,000
04 Al - S X SIHLDI S0 =30 A&k 160,000 0 160,000

©'09TH ol I & X = FH 160,000
RSN 1,895,298 859,617 1,035,681
o & THoff Ol 2 1,744,498 583,014 1,161,484
311 X+ S 0| X &k & 744,498 583,014 161,484
02 St 2 X301 AHAE 744,498 583,014 161,484

© '09 ot HoH ofl & 367,498

© '10 ot THoH ol & 377,000
601 XL S & & 1,000,000 0 1,000,000
02 SatasliianLzd=zoE 1,000,000 0 1,000,000

© '09 ot HoH ol & 1,000,000
THoh <l & Xl &bl 150,800 276,603 A 125,803
311 X+ S 01 Xk &k & 150,800 116,603 34,197
02 S8 2 X301 AHAHE 150,800 116,603 34,197

©'10 Mo & X+ FHl 150,800
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